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1. Use x4 as the free variable ¢ and solve
X +2x, =3x; +x, =1
—X, =%, +4x;-x, =6 (10%)
-2x, —4x, +Tx; - x, =1

2. 05 ,
2. Let A4=|0 3 0f,findd". (10%)
1 0 3
1 -2 -1 ™
3. a=|-1[b=|3 |,e=|3|.
2 1 s}

‘Are d,b,¢ linearly dependent? Why? (10%)

1 2 -3 -1
4. Findthenullspaceofthematrix[ 2 -4 6 3:'. (10%)

5. Find the distance from the point (1, 1, 1) to the plane 2x + 2y +z=0. (10%)
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6. For the following matrix A, find the inverse matrix A™'. (10%)

S

7. For the following matrix A, find its (a) eigenvalues and (b) eigenvectors. (15%)

200
A=12 1 1

0 0 3 \

: 0
8. Find the value of the determinant (10%)

9. Three vectors are given by (15%)

Z=;'+_j—2-l€ -b'=2§—3}'+57c' E=§+2_j‘
Find (a) a-(bxc)
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